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3Q FY2016 Earnings Presentation
Main Q&As

Q1: Why has the full-year outlook of the electric power segment been revised
upward from the previous forecast?
A1l: It is due to an increase in income arising from a decline in operating

expenses.

Q2: Why have repair costs up to the third quarter increased year-on-year?
A2: 1t is partly because of the recognition of provision for costs related to the

replacement of gas valves with air vent ports.

Q3: What is the breakdown of extraordinary income/loss (full-year) of ¥9.0
billion?
A3: An extraordinary income of ¥2.9 billion due to sale of securities has been

recorded until the third quarter, and we are considering sale of asset
holdings in the 4Q.



